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QUESTION 1

A customer has BOM Mapping configured on their site using a simple Table-Based BOM Mapping rule. However, they
want to modify their BOM Mapping to also map an additional Configuration attribute to a Transaction Line level attribute.
Which two methods can the customer use to achieve this? (Choose two.)

A. Add a new entry in the BOM Attribute Mapping table for the BOM item.

B. Add a new entry in the BOM Item Mapping Definition table for the BOM item.

C. Add a new entry in the BOM Attribute Definition table for the BOM item.

D. Define an Advanced BML-Based BOM Mapping rule that populates the "attributes" node of the BOM item.

E. Define an Advanced BML-Based BOM Mapping rule that populates the "definition" node of the BOM item.

F. Define an Advanced BML-Based BOM Mapping rule that populates the "fields" node of the BOM item.

Correct Answer: AD

QUESTION 2

You want to control the information that can be viewed on the transaction page. What must you create to accomplish
this?

A. Constraint Rules

B. Transition Rules

C. Participant Profiles

D. Internal User Definitions
E. Library Functions

Correct Answer: C

QUESTION 3

In Commerce, what is the order of operations for the standard Modify sequence?

A. Modify tab, Advanced Default function, Formulas, After Formulas Advanced Modify function

B. Modify tab, Before Formulas Advanced Modify function, After Formulas Advanced Modify function

C. Integration, Before Formulas Advanced Modify function, Formulas, After Formulas Advanced Modify function

D. Modify tab, Before Formulas Advanced Modify function, Formulas, After Formulas Advanced Modify function
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E. Before Formulas Advanced Modify function, Formulas, After Formulas Advanced Modify function

Correct Answer: D

QUESTION 4

Using standard functionality, how do you prevent a user from manually adding or removing rows in an array set?
A. by using CSS to hide icons

B. by hiding the control attribute

C. by hiding the control attribute and marking it as a forced set

D. by selecting the "Disable user override" property on the configurable array set editor page

Correct Answer: B

QUESTION 5

Identify two supported procedures for moving commerce library functions between environments without overwriting
other functions. (Choose two.)

A. Full commerce migration
B. Webservices

C. Granular migration

D. Migration packages

E. Bulk download/upload

Correct Answer: CD

QUESTION 6

The Related Parts data table exists in the QA environment and in the production environment. The table has 3,000
records in the QA environment and 4,000 records in the production environment. How many records will be present in
the data table in the production environment if this table is migrated from the QA environment?

A. 7,000

B. 3,000

C. 4,000

D. 1,000

Correct Answer: C
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QUESTION 7

An administrator tries to change the document views on an attribute from a participant profile on a given step. But the
attribute is not listed in the list of attributes that are available for editing. What are two reasons for this behavior?
(Choose two.)

A. The attribute is being referenced in an active Hiding rule.

B. The attribute is not added to the layout.

C. The attribute is hidden on the Attribute Details page.

D. The attribute is a system attribute.

Correct Answer: AB

QUESTION 8

Given the following function:
replace (str, old, new, [n])

What does [n] specify?

A. the number of occurrences of the old that will be skipped from the beginning
B. the number of occurrences of the old that will be replaced from the beginning
C. an array of the new values

D. an array of the old values

Correct Answer: C

QUESTION 9

What is the correct order of execution of Configuration rules for an attribute that has both Recommendation and
Constraint rules written on it?

A. Recommendation, Constraint, Hiding, Recommended Item
B. Constraint, Hiding, Recommendation, Recommended Item
C. Constraint, Recommendation, Constraint, Hiding, Recommended Item
D. Hiding, Constraint, Recommendation, Recommended Item
E. Recommendation, Recommended Item, Hiding, Constraint

Correct Answer: D
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QUESTION 10

Which two statements are false about BML? (Choose two.)

A. BML follows the Object-Oriented programming model.

B. BML does not need to be externally compiled as the application compiles the BML.
C. BML has characteristics of Compiled and Interpretive programming.

D. BML is a C++ based markup language.

Correct Answer: BD

QUESTION 11

In order to obtain additional sets of records when performing a REST call, which of the following sample URLs would a
user use to obtain an additional 1000 records?

A. https:/ltestsite.bigmachines.com/rest/vl/commereceDocumantsExampleTransactions?totalResults=
B. https:///testsitebigmachines.com/rest/vl/commerceDocumantsExampleTransactions?pffset=1000
C. https:/itestsite.bigmachines.com/rest/vl/commerceDocumentsExampleTransactions?set=1000

D. https://testsite.bigmachines.com/rest/vl/commerceDocumentsExampletransactions?limit=1000

Correct Answer: D

QUESTION 12

Identify the three data types available for part custom fields. (Choose three.)
A. "Currency"

B. "Float" can be changed to "Integer"

C. "String" can be changed to "Single Select Menu"

D. "Boolean"

E. "Date" can include time

F. "Multi Select Menu"

Correct Answer: ABC

QUESTION 13
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Which is the correct procedure for adding multiple files to File Manager in a single step?

A. Click File Manager on the Admin home page, click the Browse button next to "Browse for ZIP File", identify the zip file
to upload, and click the Add/Update Files button.

B. Click File Manager on the Admin home page, select the folder, where you want to store the new files, click the
Browse button next to "Browse for ZIP File:", identify the zip file to upload, and click the Add File button.

C. Click File Manager on the Admin home page, select the folder where you want to store the new files, click the Browse
button next to "Browse for ZIP File:", identify the zip file to upload, and click the Add/Update Files button.

D. Click File Manager on the Admin home page, select the folder, where you want to store the new files, click the
Browse button next to "Browse for ZIP File:", and click the Add/Update Files button.

E. Click File Manager on the Admin home page, select the folder, where you want to store the new files, click the
Browse button next to "Browse for ZIP File:", identify the zip file to upload, and click the Add File button.

Correct Answer: C

QUESTION 14
Your users receive a notification for a transaction from CPQ when an approval has been retracted and is no longer
needed. The notification contains a generic message about this action. However, users would like to get more details

about the transaction. What is the Oracle-recommended best practice to fulfill this requirement in CPQ?

A. Trigger an email action to notify users by custom defining the email\\'s subject and body, which contain the
transaction details, by using the advanced function available in the Revise action.

B. When a transaction needs to be revised, allow the transaction owner to send a parallel email to approvers, which
should include the necessary transaction details.

C. Switch the system-generated email-to-email template, which will include the desired transaction information when
approvers are notified.

Correct Answer: A

QUESTION 15

Given the following code:
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var = wphLm.

if (isnumber (var)) {

} else {

results = “NaN";

Which statement will return the value for results as 25.0 when it is put in place of the blank line shown above the "}else{"
statement?

A. results = atoi (var);

B. results = atof (var);

C. results = stringtointeger (var);
D. results = stringtofloat (var);

Correct Answer: C
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